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TWO STEP WORD PROBLEMS

	1. Mrs Scott spent £36.45 on seeds, and her gardener spent £42.74 on bulbs.  There budget was £100.  How much do they have left over?


	2. The wood for George’s new decking is 8.75m long, then he needs an extra 1.6m for steps.  George’s garden is 15m long – How much space will be left over for grass?


	3. Maddie has £200.  She bought a water feature for her pond that cost £151.47.  She then bought some new flowers that cost £28.50.  How much money will she have left over?


	4. Mr Jones saved £412.88 and Mrs Jones saved £276.52.  Together they bought a new decking that cost £568.99.  How much do they have left over to spend on furniture?


	5. A strawberry plant had 146 strawberries on it.  Tony picked 58 strawberries.  Elizabeth picked 29.  How many strawberries were left on the plant?


	6. Julian bought a bench for £214.35 and a barbeque for £98.20.  When he paid, he had a £25 voucher.  How much did he spend?


	7.  CHALLENGE!
 An apple tree measured 2.45m in January.  By June it had grown an extra 1.5m.  By September measured 5.28m.  How much did it grow between June and September?
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SQUARES
TWO STEP PROBLEMS
	1. Mrs Scott spent £36.45 on seeds, and her gardener spent £42.74 on bulbs.  There budget was £100.  How much do they have left over?


	2. The wood for George’s new decking is 8.75m long, then he needs an extra 1/10 for steps.  George’s garden is 15.93m long – How much space will be left over for grass?


	3. Maddie has £200.  She wanted to buy a water feature for her pond that cost £104.55.  It was on sale with 1/3 off.  How much change does Maddie get?


	4. Mr Jones saved £412.88 and Mrs Jones saved £276.52.  Together they bought a new decking that cost £568.99.  How much do they have left over to spend on furniture?


	5. A strawberry plant had 148 strawberries on it.  Tony picked 1/4 of the strawberries.  Elizabeth picked 29.  Who picked more strawberries? How many strawberries were left on the plant? 


	6. Julian bought a bench for £214.35 and a barbeque for £98.20.  When he paid, he had a 10% off voucher.  How much did he spend?


	7. An apple tree measured 2.45m in January.  By June it had grown an extra 1.5m.  By September measured 5.28m.  How much did it grow between June and September?


	8. Henrietta’s plants a new garden that is 100 squared metres.  1/5 of it is covered in gravel, 1/4 with flower beds and 1/10 with a pond.  The rest is covered in grass.  How many squared metres of grass does she plant?

	9. Mr Thompson planted 312 seeds and 693 bulbs. 1/3 of them didn’t grow because he forgot to water them.  How many flowers did he have once they had finished growing?
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